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Note: There are two sections in this paper. All questions of 
Section-A are compulsory. Answer any three questions 

from Section - B. 

SECTION - A 

1. 	Below are 10 multiple choice questions. Select the 
best choice as your answer. Each question is of 
2 marks. 	 10x2=20 

(a) Which of the following is a input device ? 

(i) Printer 

(ii) Scanner 

(iii) Ploter 

(iv) Keyboard 

(b) A computer virus can infect : 

(i) Executable file 

(ii) Monitor 

(iii) Only. Doc file 

(iv) None of these 
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(c) MIRC stands for : 
(i) Magnetic Ink Character Reader 

(ii) Magnetic Index Chart Reader 

(iii) Magnetic Input Chart Reader 

(iv) both (i) and (ii) 
(d) The performance of pipline in parallel 

computing depends on : 

(i) Only Data dependency 

(ii) Only Branches of the program 

(iii) Both (i) and (ii) 

(iv) None of these 
(e) Following language is widely used to 

develop system software. 

(i) C+ + 

(ii) C 
(iii) Java 
(iv) Fortran 

(f) 	Which of the following is not a relational 

operator ? 

(i) > 
(ii) < 

(iii) = = 
(iv) + 

(g) What is the benifit of windows operating 

system ? 

(i) Multi-tasking 
(ii) Device Independent 

(iii) Memory Management 

(iv) All of the above 
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(h) In Half-duplex mode of communication, the 
communication take place in 	 
direction at a time. 

(i) two 

(ii) one 

(iii) more than one 

(iv) none of these 

(i) 	Which of the following protocol is used for 
transfer of file. 

(i) UDP 

(ii) TCP 

(iii) FTP 

(iv) SMTP 

(j) 
	

SDLC steads for 

(i) System Design Life Cycle 

(ii) Software Development Life Cycle 

(iii) System Design Logic Circuit 

(iv) None of these 

	

2. 	(a) What is a computer ? Explain different input 
devices used in a computer system. 

(b) Explain the following in context of 
computer software. 

(i) CASE Tools 

(ii) 4 GL 

	

3. 	What is WAN ? Explain features of WAN briefly. 5 
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SECTION - B 

4. (a)  What is virus ? Explain different category 

of viruses briefly. 

10 

(b)  Explain concept of Packet Switching with 

the help of an example. 

10 

5. (a)  What is operating system ? Explain basic 
features of an operating system. 

10 

(b)  What is system security ? Explain software 
based system security briefly. 

10 

6. (a)  What is an array ? Explain the use of array 

with an example. 

10 

(b)  What is RISC ? Explain working of RISC 

briefly ? 

10 

7. (a)  What is LAN ? Explain LAN topologies 

used in communication. 

10 

(b)  What is EDI ? Explain advantages of using 10 
EDI. 
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(c) MIRC 31.21 : 

(i) Magnetic Ink Character Reader 

(ii) Magnetic Index Chart Reader 

(iii) Magnetic Input Chart Reader 

(iv) (i) 3ti-{ (ii) 
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